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R ke BTV M | B2 | e | |t | B2 e T e | B2 T e | & | T
6 100kN/mM##BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/MiZE#BZ 5 - -~ - -|3m#FB2 3 -~ - - -
ZThES 1.00/ 000 ~ 427 53.36] ZhList |0.00 ~ 4.27| 2.06 11.03 ZThLst 1.00] 500 ~ 531 53.36] ThLlst | 500 ~ 531| 2.06 11.03
7 100kN/mM#%# 8% % -1 -~ - -|3mZz#Bz3| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZTh LS 1.00/ 000 ~ 476 59.38] #hList |0.00 ~ 4.76] 1.69 9.05 LS 1.00] 500 ~ 500 59.38] #hbLls | 500 ~ 500| 1.69 9.05
8 100kN/mM#%# 8% % -1 -~ - -|3mZzBz3| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZTh LS 1.00/ 000 ~ 418 52.33] #huist 000 ~ 4.18] 203 10.86 LS 1.00] 500 ~ 503 52.33] #hils | 500 ~ 5.03] 2.03 10.86
9 100kN/mM#%#BZ % 1.00/ 000 ~ 1.70 126.00|3mZ#BZBH| - ~ - - -| 100kN/iZi#8 % % 1.00| 10.60 ~ 16.90 126.00(3m%i#B% 5 -~ - - -
ZThLS 1.00/1.70 ~ 948 100.00] #hlist | 000 ~ 948 231 12.37 LS 1.00] 500 ~ 10.60 100.00| #hlist | 500 ~ 16.90] 2.31 12.37
10 100kN/mM#%#BZ % -1 -~ - -|3mZz#Bz3| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZTh LS 1.00/ 000 ~ 424 53.01| ZhbList | 000 ~ 424] 221 11.84 LS 1.00] 500 ~ 6.30 53.01| #hils | 500 ~ 6.30] 2.21 11.84
» 100kN/mM#%#BZ % -1 -~ - -|3mZz#Bz3| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz2% -~ - - -
ZTh LS 1.00/ 000 ~ 3.18 4061 #hust 000 ~ 3.18] 253 13.56 LS 1.00] 500 ~ 7.30 4061| #hils | 500 ~ 7.30| 253 13.56
12 100kN/m##BZ % 1.00{0.00 ~ 1.02 115.33|3m%HE %% -~ - - -| 100kN/ %8z % 1.00| 10.83 ~ 13.90 115.33|3m%E#B %% -~ - - -
ZnLst 1.00] 1.02 ~ 8.80 100.00] ZH1list | 0.00 ~ 8.80] 2.31 12.39 Zh s 1.00f 5.00 ~ 10.83 100.00f ZH1list | 5.00 ~ 1390 2.31 12.39
13 100kN/mM##BZ 5 1.00{0.00 ~ 0.57 108.45|3m%HE %% -~ - - -| 100kN/ %8z % 1.00| 10.80 ~ 12.39 108.45|3m%E# %% -~ - - -
Lot 1.00] 0.57 ~ 8.35 100.00| #H1List |0.00 ~ 835| 1.87 10.01 Zh s 1.00f 5.00 ~ 10.80 100.00f Z1list | 500 ~ 1239 1.87 10.01
14 100kN/mM##BZ 5 1.00{0.00 ~ 0.70 110.47|3m%EHE %% -~ - - -| 100kN/ %8z % 1.00| 10.61 ~ 12.60 110.47|3m%E#B %% -~ - - -
Zrn Lot 1.00]0.70 ~ 849 100.00] Z1llst | 0.00 ~ 849 2.25 12.05 Zh s 1.00f 500 ~ 10.61 100.00f Z1List | 500 ~ 1260 2.25 12.05
15 100kN/mM##BZ 5 -l -~ - -|3mzEZB| - ~ - - -| 100kN/ %22 - -~ - -|3m%EiEZ S -~ - - -
Lot 1.0010.00 ~ 7.22 91.92| ZnList | 000 ~ 7.22| 1.86 9.94 Zh s 1.00f 500 ~ 9.40 91.92| Zh iy | 500 ~ 940 1.86 9.94
16 100kN/mM##BZ % -l -~ - -|amzEZB| - ~ - - -| 100kN/ %22 - -~ - -|3m%EiEZ S -~ - - -
Lot 1.00{ 0.00 ~ 243 3232 #nList | 000 ~ 243] 247 13.22 Zh s 1.00f 500 ~ 5.00 3232 #nlis | 500 ~ 500 247 13.22
19 100kN/mM%#EZ % - -~ - -|3mEEZD -~ - - -| 100kN/ %8z 5 - -~ - -|3mZEiE RS -~ - - -
Zh LS -l -~ - -| Fhiis -~ - - - ZhLst - -~ - -| ZFhiist -~ - - -
20 100kN/mM%#EZ % - -~ - -|3mEEZD -~ - - -| 100kN/ %8z 5 - -~ - -|3mZEiE RS -~ - - -
Zh LS -l -~ - -| Fhist -~ - - - ZhLst - -~ - -| ZFhiist -~ - - -
91 100kN/mM%#EZ % - -~ - -|3mEEZD -~ - - -| 100kN/ %8z 5 - -~ - -|3mZEiEZ S -~ - - -
Zn Lot 1.00{0.00 ~ 3.18 40.65] =xLl4t | 000 ~ 3.18] 253 13.55 Zzh s 1.00f 500 ~ 7.30 40.65| #n iy | 500 ~ 7.30f 253 13.55
99 100kN/mM##8 2% 1.00{ 0.00 ~ 0.57 108.46|3m%E 25 -~ - - -] 100kN/ Mm%z % 1.00{ 10.80 ~ 12.39 108.46|3m%iB 25 -~ - - -
L 1.00] 057 ~ 8.36 100.00] #xi4t | 0.00 ~ 8.36] 2.31 12.35 Lot 1.00f 5.00 ~ 10.80 100.00f ZhList | 5.00 ~ 1239 2.31 12.35
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93 100kN/mM##BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/MiZE#BZ 5 - -~ - -|3m#FB2 3 -~ - - -
ZThES 1.00/ 000 ~ 584 73.05| #hList | 000 ~ 584 2.08 11.11 Zh st 1.00] 500 ~ 8.10 73.05| #hlist | 500 ~ 8.10| 2.08 11.11
100kN/mM#%# 8% % ~ ImERBZD ~ 100kN/mM#Z#B 2 % ~ ImEEZD ~
ZTh LS ~ ZHLS ~ LS ~ LS ~
100kN/mM#%# 8% % ~ ImERBZD ~ 100kN/mM#Z#BZ % ~ ImEEZD ~
ZTh LS ~ ZHLS ~ LS ~ LS ~
100kN/mM#%#BZ % ~ ImERBZ D ~ 100kN/mM#Z#BZ % ~ ImEEZD ~
ZThLS ~ ZHLS ~ LS ~ LS ~
100kN/mM#%#BZ % ~ ImERBZD ~ 100kN/mM#Z#B 2 % ~ ImEEZD ~
ZTh LS ~ ZHLS ~ LS ~ LS ~
100kN/mM#%#BZ % ~ ImERBZD ~ 100kN/mM#Z#BZ % ~ ImEEZD ~
ZTh LS ~ ZHLS ~ LS ~ LS ~
100kN/m##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ s ~ ZhLlst ~ Zh LS ~
100kN/mM##BZ 5 ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ LS ~ Lot ~ Zh LS ~
100kN/mM##BZ 5 ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
Zh LS ~ s ~ ZhLlst ~ Zh LS ~
100kN/mM##BZ 5 ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ LS ~ Lot ~ Zh LS ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ LS ~ Lot ~ Zh LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh LS ~ ZhLst ~ Zhst ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh LS ~ ZhLst ~ Zhst ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh LS ~ ZhLst ~ Zhst ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~ |
=EFR




